2IZDWH OLVIVJRVIZD = JLHFL R 3XFKDU = \UHNIRUD O=26 3iRFN

3iRFN
- RQNXUHQFID "1HZFlal P JUJEIHIRZ\ DI
/IVID VIDUIRZD
SRN XU

6HID ]

-RZDIF]\N 201.ZID 363 6,0 3IRFN

%XINQ 3DXIQD _IXE 3:\ZDFNL. 3iHIZD) 0:DZD

“Thz,. $"5$1% OLCGT\VINRIQ\ 3\ZDFNL . IXE 6SRURZ\ RUND

"a8*238&.$ - $7$5=<1$ OLCGT\VINRIQ\ 3\ZDFNL . IXE 6SRURZ\ RUND

327<5%a% -8/,$ OICGT\VINRIQ\ 3\ZDFNL . (XE 6SRURZ\ RUND

6]FI\IQIHZVND -X(ID .3 0=26 3iRFN 17
6HID ]

6REF]\N $GD 8.6 GZyIND B6RFKDF]HZ

2,01,(26.$0%$5,$ 8NV . XURUI &HFKRFLQHN

"=$56.$2/,-.% 8NV . XURUI &HFKRFLQHN

OURTHZVND $QLD 8.6 GZyIND G6RFKDF]HZ

*15(&-$ =,.725$ 8NV . XURUI &HFKRFLQHN

7CSF1\N 3DIN\FID 8.6 GZyIND B6RFKDF]HZ
6SIDVK OHHI ODQDJHU %XLG SHIVIHIHG IR *(2/2*,; = (02 6IIURQD



